B2
R EARGER T H S S H TER

C 20214EF)

T H 44 %K TS 550 B i = 3 R S i e 9
FEWT B b B R RS A E STt AL B #hit B2 R Ip A AR
EHITER | RFEEE | 2FEHRATE S1H AT H 2455
A BE TR S 17. 50 17. 50 8. 09 10 46. 23% 4.62
%Ei? Horbe MW BER K 17. 50 17. 50 8. 09 — 46. 23% —
g 4 - —
HoAh 74 _ —
I T B br S bR 5 AR L
}ﬁ S OSF e A iy BN Al PRk B T
B | BRI 100, b REEE IR T, | SO SRR IROUER BB
fh B ISR FROBURIER], R, BRI, Sasshyons (o0 e R BT
g |&, EHEMEFEEDHS, RSB BEEARACTF AR R, Frasdrbl “S |7 N R T
s mEmEE s EEE DTAE, EEREEIHE, W LS, iR
b e : T EAKT R -
. 3 - e e ERETRAME | A BRE - P PN i 22 JE Rl 3 BT
v AR RR =Y dehR o B B S5y T VAT o o 5
SFR1: 2600 R vk 1k o 5 5 SEUEIL B HE bR
FbRL: 287015 i R R " " oA ik
Hfabn FI4ebr{E, 4%B/ABL
A/BxiZdhr o fHIE
fabR2: JrYEE SR 1050 1050 5 5 e
Eizp a0 EE Y AN S =95% =95% 10 10
| e L AR
T e TR “ =47 I3
G frbs2: U153 54 B A 1
b f1100-80% (£
fHhRL: TAESERIT 20214 20214 10 10 W;%;@>\W*
N 0%KAT 7 o
LN RVEiELIN — 2. FNE BB,
fabr2: SE AL B AR
i, Wi Rk
FRRRL: Fhim R T 2 B 17.50/37% | 8.09/i 7 10 4.62  |BHRIR(E, $4B/AK @ﬁgﬂ%f
- A/BX izt R4 i [ B
anf ?5*42. ﬁ'a
;& ARZ:
f e
= o | L
EUC
fabrl: ¥7K TR E AL L. &R E AR bR
o A UK A Rt 28 1 ) R fit=) R’ 20 20 TARYE “=#%" R
;ﬁ AL B ) 3 T3 R b
2 h — f1100-80% (&)
" frbs2: 80-50% (&) . 50~
- — Ok}
*; IR A kel 2. FNE BB,
e ks e SERAEIA B FE bR
FabR2: - .
A fi, s Kik
HRL: MR HI AR AR S PR B
L RIS, AT | A 20 o s
R [ R TG WA R A e e
FUATRAR | R MSCLE S
fabR2:
i %ﬁgf‘?ﬁﬂ=m%@ﬁAﬁﬁ%§ =95% =>95% 20 20 Eﬁﬁ%ﬁ@ﬁﬁ
N T T HAe
B b 100 94. 62

e L AR A RS 1% AR o PR .

2. EHEARAEAR PR SE G DL N « BT R AR« BB IR G — @ R - RIE R FUAEFR BACR B 2 =« 2 S B R AR A 1) 100-80%
() . 80-50% (&)  50-0%4 FEAfH & /{8 -

3. E BRI N ERTERE CRVFRAR(E N =%%) , MR TR R &FEEbrE (B) /A (A xiZibail: e Eiatomiats (B4
FRERN <), RS IE: FERRE (A /2FLRE B) XZIERE.

4 TBTE “CRFERUERE AT 7 — R R BB w2 ERR B SR E AR K R R A i Sk O M



